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ll•lli- Arc and Areas of Circles 
Name the following in 0 G. 
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2) the major arcs 
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3) the semicircles 
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Find the measure of each arc in 0 B. 
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Find the length of each red arc. Leave your answer in terms of n. 
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For the following:, leave your answers in terms of n. 

30) If d = 6.4cm, A= 31) If A = 529n cm2
, r = 32) IfC = 36n em, A= 
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For the following, round your answers to the nearest 0.01 unit. 

33) Ifr=7.8cm,A= 34) IfA=136.46,C= 35) If d =3 .12, A= 
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In the following, the two smaller circles are congruent. Find the area of the shaded region. 
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Refer to the figure of a circle inscribed in an equilateral triangle. Leave 

37) Find the area of the inscribed circle. 

38) Find the area of the shaded region. 



Back

Area Big Semicircle Small circle= −
2 21

2 R rπ π= −
2 21

2 10 5π π= −  

1
2 100 25π π= −  

50 25π π= −
225 cmπ=
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6 3 cm

2 3 cm

2Area rπ=

( )2
2 3π= 

212 cmπ=
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2 12 6 3 2 3π= −  

236 3 12 cmπ= −

21
2Shaded Area bh rπ= −
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